
Precalculus 11 – Flashback #4 

Riverside Math   

Solve.  State any restrictions and verify solution.   

1.  425 =−x  

 

 

 

2. 43)12)(32()5)(8( −+−=−+ mmmm  

 

 

 

 

3.  −2
𝑥𝑥+3

− 5
𝑥𝑥

= 2 
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4. 𝑥𝑥(𝑥𝑥 − 5) > 0 

 

5. 19)3(2 2 =+−x  

 

 

 

6. 115732 =+−x  

 

 

 

7. 135 2 +−= xx  

 

 

 

8. 4𝑥𝑥2 + 12𝑥𝑥 ≤ 7 
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9. xx 310 −=  

 

 

10. 2𝑥𝑥−3
𝑥𝑥+2

− 𝑥𝑥+2
𝑥𝑥−1

= 3𝑥𝑥
𝑥𝑥−1

 

 

 

 

 

11. 6572 2 =−y  

 

12. aa 13152 2 =+  

 

 

 

13. xx 645654 −−=−  
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14. 4
𝑥𝑥−3

= 24
2𝑥𝑥−6

 

 

 

 

 

15.  3𝑥𝑥 − 2 ≤ 6(𝑥𝑥 + 7) 

 

 

 

 


